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Question A: Many Bulgarians
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Question B: A case of Pali
Bl. a. r@jo niSIAQLL  .oeoviiiiiiiiiiie e
b. r@jo gamassa devo ROtL ............cceciiiiiiiiiiiiiiiiiiiiiiii
B2. a. The minister asks the philosophers.
b. The philosopher sits dOWN .....cocoviiiiiiiiiii e
C. They Sit dOWI. t.eiuiiiiii e
d. The minister asks the kings
e. the disciple’s VIllage ......couvuiiiiiiniiii i

f. The meaning of the world is god.



Question C: Intuitive Inuit

C1. Write in transcription:
a. bITRRDNC
D. ACPNBTLEDGd oot
C. PRJCA ON®
d. LPABIGEDTLDC i
€. ASIYed™ILad e
0. DBLleDeDPLYLC oo e
N, AP®DAADNG

L D %

C2. Write in Inuktitut:
= -V o ¥ o I (o [ O PP
D, aput
c. mukluk e
d. UMIaQ e

C3. Identify the English words borrowed from the Inuktitut words.

a. 406% (an item of Clothing)  .....cooovvveeeeieeeeeieeeeeeeeeeeeeen,
b. bY%®  (aform of transport) ......cceiiiiiiiiii
c. baC (aplace name)  iiiiiiiii

d. dc b (aplace name) i



Question D: Talk like Yoda you must

a. But now we must €at. ..oovviiiiiiiii e
b. I cannotteach him. ...oovvviiiiiiiiiii e,
c. The boy has no patience. ........c.coceveviiiiiiiiiiiiiiinninen...

d. This one a long time have I watched.

Great care we muUSt take. ...

h. Disturbing is this move by Chancellor Palpatine.

n. Intoexile I must g0. ..cocoviiiiiiiiiiiiii

0. Your weapons you will not need them.



Question E: Grammar rules OK

E1. Mark each sentence with a tick or a cross to indicate whether they
are well-formed (v) or not ().

John sees the dog and Mary sees the dog.

The dog sees John and Mary.

The dog sees a squirrel.

The squirrel sits in the tree.

That squirrel sees the dog.

The squirrel is seen by the dog.

The dog runs.

The squirrel in the tree runs.

The dog chases the squirrel and eats the squirrel.

The dog eats.

John sees that the dog eats the squirrel.

John tells Mary that the dog eats the squirrel.

.| The dog sees that John sees that he eats the squirrel.

And the dog runs away.

Mary and John chase the dog.

John chases and catches the dog.
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John eats dog.

E2. Give three examples of sentences that can be generated by this
CFG but are not correct English sentences.



Question F: Phoenician fun

F1. Fill in the corresponding letter A-J, or put an X if it is one of the
two left-over cities.

Aynuk Palmyra
Beritos Qadesh
Ebla Riblah
Halab Tripoli
Megiduw Tsarephath

F2. How are the names of the two left-over cities pronounced?

Explain any uncertainty in your answer:



